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Section A {30 x 2 marks = 60 marks)

For each question from 1 {0 30, four options are given. One of them is the
correst answer. Make your choice (1, 2, 3 or 4). Shade the correct oval {1, 2,
3 or 4} on the Optical Answer Sheet provided.

=
[1

The following =lassification charts classify pracesses which involve the
same changes in states of water. The processes were classified into
different groups, R, S, T, U, Vand W.

LA ) |
{ Processes
E !
R S
Evaporation l Condensation
Boiling I '
B - |
l Processes
1
f 1
_ T U
Evaporation Freezing
2 Condensation Melting
C
i Processes
: i 1
Vv W
Condensation Boiling
Melting Freezing

I

Which of the following classification charts show(s) processes that are
classified correctly? '

(1) Aonly (2) C only
(3) AandBonly (4) BandConly

oL}



Aing Hurwas civen five objects as listed below. o,

! = raincoat

| .

! cooking pot

= magnifying lens
» rubber band

i < floortile

I

She grouped the objects into two groups, A and B. Group A has three
objects and CGroup B has two objects. Which one of the following
properties did she use to group the objects?

(1) Magnelic property (2) lexibility
(3} Heat conductivity (4) Electrical conductivity

Two identical bricks can balance ten identical bboks on a2 beam
balance with a fixed fulcrum as shown below.

two bricks

ten books

A

~
fulcrum

Which one of the following statements is incorrect?
(1) The mass of one brick is greater than the mass of one book.

(23 The total weight of the two bricks is the same as the total
weaight of the ten books.

3 The total velume of the two bricks is the same as'the total
volume of the ten books.

4} The twa bricks can stili balance the ten books when the beam -
balance is placed on-the moon.

s




4 Three simiier bottles, P, Q and R, were filled to the brim with water.
* The opening of each bottle was fitted with a similar cover which had
hwo holes as shown below.

e

(o s

The boltles were tilted at the same angle but held at different heights
from a meta: box.

magnified view
of cover

Metal box
. - ¥ = /]

Water drippad onto the metal box and after 15 seconds, the bottles
were inverted upright. Which of the following statements are true?

A Water flows out from bottles P, Q and R at the same rate.

B Water from bottle P produced the foudest sound upon hitting the
metal box.

.

Water from bottles P, Q and R possessed the same amount of
kinetic energy at Point X. :

£ Watei in bottles P, Q and R possessed gravitational potential

enrergy and kinetic energy when the bottles were tilted.

1 Coniy : (2)  Aand D only
:  Band C only (4) A,BandD only

R
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Hassan set up an experiment as shown below. Both the ping pong ball
and stee! ball were of the same size.

cetling
— . /’r \ \
string™” é "\_Aﬁ' string'/ o
ping pong bali steel ball

He lifted both the ping pong ball and steel ball to the same height,
released them and allowed them to swing. He used a stopwatch to
record the iime needed for each of the bail to come to a stop. Which
one of the following is Hassan’s aim of the experiment?

(1) Te find out if the steel ball is stronger than the ping pong bail.

{2) Te find out if the mass of the ball affects the time it takes to
comie to a stop.

{3) To find out if the amount of gravitational energy affects how
fast each ball swings.

{4) To find out if the angle of elevation affects the time it takes for
each ball to come to a stop.
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Zht Yang placed a light sensor in a completely dark room. He shone
forchlight W at the light sensor and recorded his results in the table
beiow He repeated the experiment with three torchlights X, Y and Z.

Torchlichi Intensity of light in Intensity of light in -
room when torchlightis | room when torchlight
- ) switched off {lux) is switched on (lux)
o W 0 55
X 0 30
Y 0 55
z 0 70

Which of ihes following statements correctly explain Zhi Yang's
observations”

Al Torchlight Z 1s bigger than torchlight X.
I ’
B. Torchlight Z gave out more heat-than torchlight W.

C. Torchlight W and torchlight Y used the same number of batteries.
D. When forchlight X and torchlight Y were piaced at the same
distance from the wall, and Zhi Yang’s hand blocked the light,

torchlight Y allowed a darker shadow of his hand to be formed.

{1) AandB only (2) B and D only
(3) CandDonly {4) A, C and D only

1g
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Two objects, X and Y, were suspended in mid air as shown below. The
sirings were placed 100 cm apart from each other.

100 cm

f -
ceiling

sting o . S—
Lox ] ]

Wher the distance between them was reduced to 20 cm, the following
opservation was made.

20 cm

A
< [

\Which of the following statements isfare correct?

A Both object X and object Y are magnets.

B No gravitational force is acting on object X_

C. Object X has a greater magnetic force compared io object Y.

0 More elastic spring force is acting on object Y compared to
cbject X.

(1) A only (2) A and D only

(3 B and C oaly 4) C and D only
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8. fiuz picture below shows an electric baby hammock that will move the
bzt up and dowr: to the same height to put the baby to sleep.

e ceiling

—
—_

— electric controller

. =
spring —-——-—%

The el=ctric controller was set to move the spring up and down for a
period of two hours. Which one of the folfowing pairs of graphs
cerrecty shows the gravitational potential energy possessed by the
baby and the gravitational force that is acling on the baby for the two

hoirs?
Key:
Gravitational Patential Energy ~—————-
Gravitational Force ------~-ccoov-
(1 }
Energy Force
\ } } : \\-\,” '} ?’_
2h 1ime 5'h Time
(2}
Energy Force
A
2h Time 2h Time

Please turn over to page 8 for options 3 and 4.

7
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Energy Force

r3

- e

i >

AVANN I

2 h }ime

{43
Energy Force
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(;?’ Jazh 5 trying to balance two loads, A and B, on his shoulder using a

pole holding bvo bags, X and Y. Load A is lighter than load B.

Wiich one of -he following should Josh do o balance the two loads?

(1)
{2)
(3}

(4}

| Load inbag X | Load in bag Y Distance from shoulder
A B Move bag Y nearer to
N N shoulder
A B Move bag Y further from
shoulder
B A Move bag X further from
) o shoulder
3 A Move bag X and bag Y at
equal distances from the
shoulder

%1



10, Raja carried out an experiment using the electrical circuit below.

B

pre s

He was given some batferies, bulbs and wires which were new. He
made some changes to the circuit using the materials he was provided
and used a certain device to oblain readings before he recorded the
results. The results were used to plot the graph as shown below.

YA

.

X
Which of the following could possibly represent the labels X and Y2
X Y
A Number of bulbs Vaitage of bulbs
3. Voltage of batteries Number of bulbs
. Voltage of bulbs - | Brightness of bulbs
0. Numbe:r of bulbs Brightness of bulbs
(1} D only (2) A and B only
{3) Band C only (4) C and D only

33
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12

[ S
S— ﬁl Object W e =

she recorded object W's ternperature before placing it in the circuit.
After placing objact W in the circuit for 15 minutes, she recorded object
Vi's temperature again. She repeated the experiment with objects X, Y
and Z. The table below shows her results.

-bject | Temperature before Temperature after Did bulb light
being placed in being placed in circuit up?
| circuit (°C) for 15 min (°C)
W 2305 | 44.5 Yes
X T e T 28.5 ____No
Y 32 40.5 Yes
-z 295 30 No
Which of the following can Yan Ying infer from her results?
£ Object X and Z are poor conductors of heat.
B Objects W and Y can be attracted by a magnet.
C The circui? is open when object Z is placed in the circuit.
D. When cbject W and object X were heated to the same

temperalure, object W will cool down faster than object X when
both are placed in a pail of ice.

(1} A only (25
&F A, C and D only (4)

B and C only
A, B CandD

4 boy fooks infc a still river and is able to see his reflection clearly.
Which of the following can the boy conclude about his observation?

A The water surface of the river is smooth.
L Light is reflected off the boy’s face onto the river surface.
G The boy's reflection is a shadow sifice the boy is blocking light

frem the sun.

C only

(1)  Aonly (2)
( A, BandC

{3}  AandB only (4)

%
11



finn opaque bex with two holes contains three ilems, J, K and L as
shiown in the diauram below.

: Jenny
hole
—_
/1 T Jonas
S r‘\—__4_3> >
e ; G—-— hole
-

Two pupils, Jenny and Jonas, looked through the two holes in the

direction indicated by the position of the eyes. Which one of the.

following shows the ilem(s) that can be seen by Jenny and Jonas?

(1} Jonly (2) K only
3y Lonly 4) J, Kand L

142
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14 “Aviaton nait s siroked 50 times along its entire length by a magnet in
ene direclion as shown in the diagram below.

The iron nail is then hung from a ceiling and the iron naif seitled in the
cirection as shown below. A, 8, C and D show different directions in
the room. '

ceiling

string——  a

O "

P

’

C
Which one of the following statements is correct?
{13 When the North pole of a magnet is placed at B, the iron nail
will. move in the direction of ).

{22 When the South pole of g magnet is placed at C, end Q of the
iron nail will move in the direction of C.

{33 The tron aailis able to attract the same number of paper clips
from direction A and D since it is a temporary magnet.

(H To avoid having direct morning and evening sun rays in the
rcom, wirdows should be fixed in the directions of B and D.

4

13



15, Gopal used ihe setup below to find out the most suitable living
condition for organisms X and Y which are not nocturnal. The tray was
divided intc sections A, B, C and D. He filled it with wet and dry soil and
covered part ol the tray with a piece of black paper.

v

He placed the tray in the hot sun and released 50 living organisms X
and Y each in the middle of the tray in the area marked by the circle.
After one hour, he counted the number of organisms in each section.

Which one o7 the following [east explained why some organisms X and
Y are still fcend within the circle?

{1)
(2)

{3)

(4}

Some organisms X and Y are dead.
Sorme organisms X and Y prefer o stay in the circle.

Som organisms X and Y need more time to find their suitable
living condition.

Some organisms X and Y are very active so they have moved
rourid the tray and have returned fo where they started.
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16.

© he diagram shows stream W. The farms and factories discharge
wasle into il

Stream W

L S —

e T L LN,

factories

Flow of x
the stream

C
X

11 an experimert, 3 cages were lowered separalely into the water at
three points A, B'and C of the stream. Each cage contains the same
sumber of live catfish. The number of live catfish in the cages was
tounted over 2 weeks. The result is shown in the graph below.

4
- — — . Cage X
N
© RN
< AR
) R
= .- e TTTm TTr-~-.CageY
- ‘—5-"5‘
: ‘\
=z .
~.Cage”Z
- .
Days

vWhich of the foliowing graphs correctly show where the different group”

of cat fish was placed?

Caga X Cage Y Cage 7
(1) __A B C
{(2) e A___ﬂ_ﬁ_ C B
3y 1 B C A
{4) t_ < A _ ] B ]

15
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he inHod web below shows the food relationship among several organisms in
a tres community. Use the food web to answer questions 17, 18 and 19.

/ Aphid » lLadybird
S Fruit fly > Spider

—

iree Ny
\‘\ \ Honey /

bee \ .
\ Bird
Caierpillar//

17. How many {ocd chains are there in the above food web?
(137 (2)6

(3)5 (4) 4

13. How many of the organisms in the food web are both a prey and a

predaior?
{131 (2} 2
(3)3 (4) 4

19.  Tie graph below shows organisms X, Y and Z interacting with one
another in the same community over a period of time.

@w &4 e

E .

.2 . - X

@

> - * -

5 -

-

O . ) e

2 — -y

£

B R e TP ——— pd

< >
Time

Which one of the following correctly identifies organism X, Y and Z?

X Y z
N aphid ladybird tree
Z) honey bee spider bird
{3) honey bee fruit fly tree
(4) tree caterpillar bird

37




26. Jhe following < ganisms are found in a rotting log community.

slug woodlouse  spider scorpion  mushroom fungi mii[ipedes]

Which of the foliowing organisms break down dead matter into simple
substances such as mineral salts and carbon dioxide?

(1) spider end scorpion
12) siug an:d woodiouse
i3) miushroom and fungi
43 milliped=s and woodlouse
2%, Animals and piants have different adaptations that help them to survive

i1 their natural habitats. Which one of the following correctly states the
structural and behavioural adaptations of the organism mentioned?

r = I P
i Organism | Structural ____Behavioural
{1) | Polar Has white thick fur to | Cover his black nose with
bear blend into the | his paws when resting
surroundings
(2} | Lizard Drops its tail when | Has a flat body to allow it
attacked toc move through small
openings
{3) Bird  |Has hollow bones to Has long wingspan for
make its body lighter for | flight
fight
{4} ; Plants Fruits  dispersed by | Fruits dispersed by wind
walter has husk has wing-like structure

17
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22,

Some plants such as mimosa and the morning glory have weak stems.
Which one o! the following states the correct adaptations that both
plants have {» get sunlfght’)

T o

! Morning g!ory Mimaosa
(n | Has tendrils that coil around | Has roots that spread outl in
the support the aground

(2) Has stem that twines around a Creeps horizentally on the
suppar: ground

{3) { Has clasping roots that Leaves closes when touched
altached to a support

(4} | New flowers blossom everyday Leaves folds i in the eventng

The diagram shows a type of sea grass that is found along the sea
shore.

N

Which one of the following starfish is most easily spotted by its
predator when it is near this seagrass? .

£5) (2)

2) (4)

2t




24,

The example pzlow shows a type of relationship that exists between
Iwo different crjanisms

The bee obtains its food from the flower and the Aower
is pollinated by the bee.

Which one of the following best describes a similar relationship as the
above™?

(1)
(2)
3)

{4)

Ants Hiving in a group.

A bird calching a grasshopper.

A bird nest fern growing on a rain tree.

Pilot fish feeding on the lefiover bits between the teeth of a

shark.

The table belovs shows the different cell parts of 4 types of cells S, T, U

and V.
| Cell pa—rts S T u v oo
Celi Wail fesent Absent Present Absenl
Nucleus Present Absent Present | Present
! Chioroplast Present Absent Absent Absent |
Which one of the following best represents cells S, T,Uand v?
. S T U V
1)1 animal skin roots cells red blood leaf cells
cell cells
2) leat cell red blood cell roots cell animal skin
‘ cell
3) leaf cell roots cell red blood cell animal skin
_ cell
{4} Neaf celf animal skin red blood celi roots celi
- cell

19




)

The table elow shows the development of a fertilized egg to a human
bisby. o

L Pz0d after “Stage of development.
L _ferilisation
-0 days Hollow ball of cells which is thickened in

one area and implanted in the wall of the
womb.

|3 weeks Head is formed. Spinal cord and heart start
to develop.

) 6 weeks Brain grows rapidly. Eyes and ears start to

develop. Limbs slart {o form.

12 weeks The foetus has almost all the external
features of a baby.

9-1(: months Birth

— -

From the tabide, what is the eardies! period after ferilnsat:on that the
mother can start feefing the foetus kicking?

i) 1% peek

&) 5M waek

i3 3 vieek
i4) 13" week

e TaY
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27.

(1)

(2}

(4

{ Methods of Reproduction

|

Biwd's nest
fern

{
§ R
{

S

ihe classificat on chart below is used to classity some organisms

Papaya
plant

Which one of the following would complete the classification chart
correctly?

Heading Q

Organism S

Heading P Organism R
Asexual Sexual Corn Tomato
Reproducziion Reproduction
Sexual Asexual Yeast Pineapoie
Reproduztion Reproduction ea PP
By Spores By Seed Mushroom Water melen
By Spoiyes By Seed Yeast Banana

21

a4



28.

(5}

{4}

and 27
A | X Y Z
(1} i Respiration Photosynthesis | Respiration Decomposition
(Z} | Decomposition | Respiration Photosynthesis | Respiration
Photosynthesis | Respiration Respiration Decomposition
Decomposition | Photosynthesis | Respiration Respiration

Thre diagram Selow shows how carbon dioxide is released to or
remmoved fron- the air during the processes W, X, Y and Z.

w

Carbon dioxide v

= in the air

-

Flants J

X

l Animals

Dead matter

Which cne of the following correctly identifies the processes W, X Y

75




29. Paths A, B, C and D show the movement of blood round parts of a

nmunan body.
A, B
1 DI S [
I lungs heart smal
! o intestine
, ,T e _g1ﬁm__k
c = . D

Which one of the “ollowing bars in the graph does not show the cormrect
armount of carbon dioxide and oxygen at different parts of the body?

e AT
Pty IR
b e -.:{.:\l\f-d’*—’
i i e e s -u'{up‘-f'-d'
fr ] bty

T
4
5
it
5

1,
2
i
i

i
s
4
<
i)
¢
2
:

0
0
;

& Amount of oxygen

B Amount of carbon
dioxide

Amount of carbon cicxide and oxygen

23

ab



30 The life cycle of a bed bug takes between 5 weeks to 4 months to
complele The ciagram below shows the development of a bed bug
from eqg to adult.

mhadrlARE 1R

Life Cycle of the
Bed Bug

) i35 mar ool
Yshé capeaion] BaGd maii® orais Temeel o) preokc
Fomaies Loy vp 30 5 oggs Der day, contamarly

\_\ ’, y

1) 5
@ 7
(3) 3

(4) 4
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Section B {40 marks;

Write your answers to gquestions 31 to 46 in the spaces provided.

Marks will be deducted for misspelt key words.

31

The following p-e charls show the composition of animais found in a
:eaf litter community and a rotting log community.

Put a tick (') ir the appropriate boxes to indicate whether the

leaf litter community

rotting log community

statements are ‘True’, ‘False’ or ‘Not possibie to teli’. {23
i ot
; Statements True False po?soiﬁie
to tell

‘The number of centipedes In

both the ieaf litter community
and rotting log community
are the same.

In the leaf litter community,
percentag=s of centipedes is
lower thar millipedes.

There are only.6.animal
populations in the rotting log
community.

There are more types of
arganism in the rotting log
community than the leaf litter
community.

itk
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32.  The graph below shows the rate of bacteria growth at different
lemperature

Kate of
Growth

| > Temperature {"C)

50°C 80°C

The flow chart below shows 4 steps in the production of yogurt.

Milk

Slep 1: Heat mitk up 1o 86°C for 15 seconds Step 2: Cocled milk down to

ol
40°C. Add pactena

Step 3: Keep mixture at 40°C for 3 hours

VA

y

Step 4: Bacieria changes sugar into acid.
Milk protein forms lumps.

i

Yogurt

-

{a) In th2 production of yogurt, why does milk need to be heated
up tc 80°C for 15 seconds in the first slep? 1} -

{b)  Why is the mixture of milk and bacteria kept at 40°C for 3 hours
instead of in the refrigerator? _ s




33.  The follownng pictures show the feet and beaks of bird A and bird B

Bird B

—

Put a tic< in the habitat that bird A can be most likely found in.

1]

fa)

[ Habitat Bird A can be found
Garden_

— e

+1s) _ucy said thai bird B is a bird of prey. Fill in the blanks with the
fwo structural adaptations that allow her lo make this

conciusion. 12}
 Structural | Functions
Adapiation
)
Y
s
rof




34.

(2}

(b

Both seed A and seed B are dispersed by animals.

Seed £ Seed B

Carry out an experiment to find out whether seed A or seed B
are better dispersed by animals. (2]
Iltems available: A metal tray

A wooden block
A woollen towel
Fifty seed A
Fifty seed B

Procedure

Step 1:

A

megnd,

* Put a tick against the variable that must be kept the same in
order for the experiment to be fair. (1]
B Variables Ticks’
No cf Seed A and B
Size of the towel
Temperature of the sumrounding o
(el



35 Ihe picture bie ow shows a ‘garden-in-a-botlle’ which is placed in a
room with plerily of sunlight. The bottle is sealed. it was observed that
the plaats remain alive after one month.

T air-tight cork

earthworms and

clear glass bottie
snaif T

maist soil

The plants are not watered and no air can enter the sealed bottle.
Explain hcw the plants in the bottle are able to photosynthesize.

{2}
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36.

A geranwum plant has leaves that are green in the centre but white
around the edges. In this expenment, rings of different thickness were
cul and removed from the stem of the germanium plant at Q and R as
shown below

stem

R: Bothrihe xylem and
phicem removed

Q: Only the phloem is
removed

The plant was watered daily and kept in the dark for 96 hours. Both leaf
A and leaf B were partly covered with black paper on both sides i the
leaf as shown below. The plant was then placed under bright fight for
12 hours.

black paper
T o

white area of leaf

\\Qreen area of leaf



Aftler 12 hours, leal A and leaf B were tested for starch using iodine. ,
Shade the gart(s) that will turn iodine dark blue. (2}

Leaf A leafB

37.  The diagram below shows the life cycle of a flowering plant.

Adult Plant

s

-

/

Seedling -« Seed

(a} Write “he names of processes which occur in the iife cycle in the
boxes [t 172}

(b} State iwo conditions which are required for a seed to germinate.
' {1/2]

195




38.  The diagram below shows two flowers, o

Flower A Flower B

Which flower is most likely pollinated by animais? State 2 reasons for
your answer. o {2}

39. The flowchar: below classifies the different kinds of joints K, 1, N and P
found in the human body.

Is this joeint No K
movabia? P
o~

Can it
rotate 180%?

Can -t
~_ rotate 369%?

Yes-

Can it be found
on the upper part of the

Ne . p

farge colourful
""" petai

1ok



{a; Based or: “he llow chart, label! joint M and joint 1. on the human
skeleton baiow, {11

Human Skeleton

A
S B
(b1 Refer to the human skeleton. State a similar function between r
structure £ and B. [

——— ol

o Refer to the flow chart. Which joint, K, L, N or P can be found in
the upper part of structure A. ) R}

Ipper part of
structure A

- - - ey




40 Study the fiow chart below.

'i MateriaisJ
T
-~ o Yes Yes
< R : > S
No No
T Copper
T Yes
- Is it transparent? b
\‘w
-
No

{a)  Write down the questions (based on properties) that are
represented by R and 5. [2]

R:

S

vwh

10



41.  Siudy the set up below. An eraser rests on a ruler which is placed on a
box. i

ceiling

Idistance h

Patials 1

scotch

box \ tape \ eraser

=== distance d
~F

ruler

The ruler is then pressed down by d em. When the ruier was released,
the eraser shol upwards. The distance between the highest poing
reached by the eraser and the ceifing is measured. The experiment is
repeated with different values of distance d.

(a) Draw a straight line in the graph below to show the relationship
between distance d and distance h. 1]

Distancg:?h(cm)

.

Distance d (cm)

e g

11




(H) in the Olympic Games. diving competitors need to jump as high
o - -
as possibje to aliow ume for them to complete vanous
somersauils dunng therr dive nto the peol

. diving
compehitior

diving board

Explain, in lerms of energy conversion, why the diving
competitor needs to jump on the diving board a few times
before she dives into the water. 2}

12
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47,

Chong Jie canied out an experiment with a bottle of body lotion and a
paper cup as shown below. The bottle can hold a maximum of 50 g of
body lotion.

inverted

____— paper cup

floor

Before carrying out the experiment, Chong Jie would hold the bottle
upright so that all the lotion wili settle at the bottom of the bottle. He
then squeezed the upper part of the bottle with the opening facing the
paper cup and no lotion spilled out. The paper cup is observed to move
across the floor. He repeated this experiment with different amounts of
body iotion in the botile. The table below shows his results.

(a)

(b)

Amount of body lotion (q) Distance moved by paper cup (cm)
40 0 ]
30 2
20 5
10 7

Stale the relationship between the volume Q_fiir in the bottle and
the distance moved by the paper cup. } {1}

Explain why Chong Jie made sure that ail the lotion settled at
the bottom of the bottle before carrying out the experiment?

(1l

il




43 Mrs Singh dizped a diy cotlon towel on a hanger made of materiai X
as shown below.

bai .~ hanger
\ ,/

{cwel

She ithen recorded the time taken for the towel to ship off the hanger.
She repeated the experiment with another hanger made of matenal Y.
The table below shows her results. .

" Material of hanger Time taken for towel to'slip off (s)
o X L 3
Y Did not slip off

(a) What foree(s) isfare acting on the towel during the experiment?
. i

(b} Compare the texture of material X ana v_ 1]

Y i )

{c) Material X is used to make a whole bench which has a tilted
surface. The side view of the bench is shown below.
U

Referrirg to the experiment above, explain why il is dangerous
for children whose legs are shorter than the bench to be sitling
on poin: X. i

Ntg
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Ming En hac three identical bulbs. Two of them were in good condition
and one of them was faulty. She was given batleries, a switch and
wires. She set up a circuilt using the bulbs and given matenals ¢ iind
out which one was the faulty bulb. When the switch is closed, Ming En
immediately identified the faulty bulb. In the space below, draw a circuit

diagram to show how Ming En identified the fauliy bulb. [2}
[ Key:
battery | ¥ wire
bulb —()— switch —o—
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45.  Annie wantec to find-ouf how_the length of a ramp affects the effort
needed to puliupa simiiz;r’ foad 1up to the first level of a buiiding. The tip
of the ramp was placed-ouching the floor of the first leve! of building.
The angle of elevafion is labelled r.

/ramp

| 3m load

first level of build‘ing

She repeated the experiment with two other ramps of different iengths.
The graph below shows U‘le results of her experiment.

Effort (g)

4 |
500-
4001
300

em e s

™

5 10 15 Length of ramp (m)

(@) Whatis the length of the ramp with the largest angle of elevation? .

1]

(b) State one variable'that should be kept constant to make this
experiment a fair one. {1]

W



{c)

Siudy th= picture below.

H

Expiairs why it is easier to drive round and round up the hill
compared to driving directly from point G o point H.

2]
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46 Jeremy mixed iron filling of different sizes into a container of dry sand.
He tried to separate the iron fillings and sand using the set up as

shown belovy.
f

Mixt:ure of coil of steel container J
sand and sheet -
ron fHlings

He poured the mixture through a coit of steel sheet with openings on
both ends and observed that small pieces of iron fillings are stuck on
the inner surface of the steel sheet bul the sand and bigger pieces of
iron fillings fowed through into container J.

{a) Explain why smaller pieces of iron fillings got stuck on the inner
surface of the steel sheet. ' 1]

{b) Explain why the bigger pieces of iron fillings flowed through the
steel sheet. _ [1]

eieee END OF PAPER — v

Setlars: Ms Peh Yunn Chyn

Ms Tan Si Ming
\'\‘0
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Nanyang Primary School
Primary 6 Science SA2 Exams (2008)

Qo. Ans (Jn no. Ans (Jn no. Ang
i 1 11 3 21 1
2 2 12 3 22 2
3 3 i3 1 23 2
4 2 14 4 24 4
5 2 15 4 25 2
6 2 16 2 26 4
7 1 17 3 27 3
3 4 18 2 28 1
9 1 19 1 29 4
10 4 20 3 39 3
3ia. Not {b) True
31c. False {d) True
32a It is to kill all the bacteria present in the milk.
32b Bacteria grows the faster when kept at about 40° and so the milk can change into
yogurt in a shorter period of time as compared to when it is placed in the refrigerator
which temperature is about 5°C.
33a Lake
33b(i) Sharp beak ——» 1t is tear its prey into smaller pieces so that it can eat its prey
easily.
(ii) Sharpclaw  ——» To catch prey
34a Step1 : Take the fifth seed A and put it on the metal tray and usc the woolen fowel
to press o them. Records the numbers of seeds stuck to the touch and remove all the
sceds from the towel as well as on the tray.
Step2 : Go through the same process with seed B.
Step 3 : Compare the number of each seed on the towel with the most number of
seeds stuck to the woolen towel are that is better dispersed by animals.
34b. No of seed A and B

Size of the towel

Firstly, the plant is able to get its water from the moist soil which will not dry up
because the water vapour in the air will condense on the cooler surface of the clear
glass bottle and turn into water droplets. Secondly, the plant able to get its earbon
dioxide from the earthworms and snail when they respire or decompose. Thirdly, it
has plenty of sunlight so it can photosynthesize.
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36

37a Fertilization + Polilination
germination
37b. The seed nceds warmth and water.
38. Flower B, because it has large colourful petals to attract animals to go to it. The

stigma is big for a pollinating agent to reach in to get nectar and in the process getting
off pollen grains on bodies from the previous flower and poliinating the flower.

39a The protect organs that are important to the body.
3%b Jeint K
4(ta R : Isitagood conductor of heat?
$ : Can it be attracted by a magnet?
415 A
0 >
41b When the kinctic energy of the diver’s body hits the board, it will be changed into

clastic potential cnergy of the diving board. When the diver jumps up again, elastic
potential cnergy from the board is changed back kinetic energy and this kinetic
cnergy is addcd to the diver energy. Each time the diver bounces, the board will bend
more allowing the diver to go higher, thas creating more time or her to do her tricks.

42(a) The more the volume of air in the bottle, the further the distance moved by the paper
cup.
42(b) He wants to let air occupy space at the top of the bottle so that only air will be

squeezed out.

43a Gravity and friction.

43b. X has a smoother texture than Y.

43c. They might slip becanse there is less friction between the bepeh and the children’s
clothes.

44 i‘m-—.g

R - /
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453
45b
45¢

46a.

46b.

S5m

The material of the surface of the ramp,

The circular path is not as steep than the direct path from G to H. Using the circalar
path, the car has to travel a longer distance hence effort is reduced.

The steel sheet became an clectromagnetic since steel filings are magnetic; they arc

attracting to the steel sheei.
The magnetic force is not strong enough to overcome the gravity that is acting on the

iron filings.
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